
      3.3 HW 

1. Fill in the blank with the correct response. 

 

a) The expression 2𝑥2 is called a     

 

b) In the term −5𝑥2, the coefficient is    , and the exponent is     

 

c) The number of terms in the expression 7𝑥3 − 5𝑥2 − 1 is     

 

2. For each polynomial, write the number of terms, and name the coefficient of each term. 

 

a) 3𝑥4      d) −5𝑦3     

 

b) 5𝑥4 + 3𝑥     e) √3𝑥 +
2

3
𝑥 − 6    

 

3. Determine whether each expression is a polynomial. 

 

a) 3−4    c) 
√2

3𝑥
   e) 

2𝑥

5
− 3−1   g) √2𝑥 − 1 

 

b) 
1

𝑥
+ 1   d) 

3𝑥

√5
   f) 

2

𝑥2−2𝑥+1
   h) 𝑥−4 

 

4. Classify each polynomial as a monomial, binomial or trinomial; if none of those, then polynomial. 

 

a) 2𝑥 + 3     d) 6𝑥4 − 3𝑥2 + 𝑥 − 1     

 

b) 𝑥2 − 5𝑥 + 1    e) 3𝑥𝑦2 − 5𝑥𝑧       

 

c) 3𝑥2𝑦𝑧     f) √3𝑥 −
2

3
𝑥 + 1    

  

 

5. Determine the product. 

a) 2𝑥2(5𝑥3)     d) 3𝑥(−3𝑥2 + 2𝑥) 

   

 

b) (3𝑥𝑦)(−2𝑥2𝑦4)    e) (2𝑥)(3𝑥)(3𝑥 − 5𝑥2 + 1) 

 

 

c) (𝑥𝑦)(2𝑥2𝑦)(−3𝑥𝑦3)   f) (𝑥2𝑦)(𝑥𝑦 − 3𝑥𝑦2 + 5𝑥3𝑦4) 

 

 



6.  

 

 

 

 

 

 

 

 

7.  

 

 

 

 

 

 


